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3.5B - Parallel and Perpendicu_lar _I__ines

Bellwork: Name the property of equality the statement illustrates.
1. If x =y, then 2x = 2y.

2.I1f BN =NC, then BN -6 =NC - 6.

3.z2=z

4. m2A = mcA

5. If m«D = 38° and m«E = 38°, then m«E = mzD.
6. If FG = JK, then JK = FG.

Essential Question

Slope - describes the steepness of the
line. Can use any two points on the line
to find slope.

rise
Slope= —

run

Slope Formula: Label two points

(xlayl) and (xzayz)

m___)’z—yl

Xy =X
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Slope-Intercept Form
Provides the exact location of a line on a graph

y=mx+b

m = slope
b =y intercept

Write the equation of the line that goes
through each point:

(5, 2) and (-5, 6)
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Horizontal and Vertical Lines

HOY - VUX

Write the equation for each line.
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Graph each line.

=4 ’:I: vz %

Write the equation of the line through each
point.

Vertical through (-2, 4) x: - 2
m— v

Horizontal through (3, -6) V = (0

Oct 23-8:41 AM '

Parallel Lines - Have the same slope

Perpendicular Lines - Slopes are opposite
reciprocals

Also: Any two vertical lines are parallel

Horizontal lines and vertical lines are
perpendicular

Theorems
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Determine which of the lines are parallel and which of the lines are

| perpendicular.
oY= X+g
Linea: -x+3y=9 2 33 SlO’bf:—L
3

V= £x+43

Line b:y = (1/2)x - 1
Slope = £
Y 2

Line ¢: Through Points (-1, -5) and ( 1, -4)
-4 $5
Slope = e R _é,

Line d:

L Shyes -2

Example 2

REMEMBER!

Postulate 3.1 Parallel Postulate

If there is a line and a point not on the line, then
there is exactly one line through the point parallel
to the given line.

L Bl

N

"?‘

~
+

There is exactly one line through P parallel to £.

Postulate 3.2 Perpendicular Postulate

If there is a line and a point not on the line,
then there is exactly one line through the point P
perpendicular to the given line.

There is exactly one line through P < ‘
perpendicular to 4.
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Write an equation of the line passing through the point (-1, 1) that

is parallel to the line y = 2x — 3. ~
m=12 Y= tnxt

:2—('0 +b X+7]

Write an equation of the line passing through the point (2, 3) that is
perpendicular to the line 2x + y = 2.

E -2x 2 \[=mx +b

Lm= 4 3=10) b
2= 115
2=b

(. | /
l/ 2)<+Z

I Writé an éduaFoH of the Iiné that passes through the point (4, -5) and
is (a) parallel to the line y = 3x — 5 and (b) perpendicular to the line
y=3x-5.

N m=32 (4,5)

|
\/:mx +h Y= 2¥-17F Efi "o ("/) i bjj /

—S=(z ) th . |
'5'=¥,+b "’5_:’4"'@19,,__1_4
-3 = [9 — Il = 3b b" Z

How do you know that the lines x = 4 and y = 2 are perpendicular?

“Becavse +hay owe Verdica] cwnel hovizont |

Monitoring Progress 4-5
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Homework:

pg. 160 # 10-13, 15 - 18, 20, 34-35
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